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Testing the expression of probability density.

Biasin Afr . caused byA%" = 0

Toy Monte Carlo studies.

Fitting Afny and-Afa  (instead off  and

n s free parameter.



PDF testing

}  Analyse the behaviour of the fit in case the
transversal direct asymmetries are not
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PDF testing

: po p1
{xperument Value Error Value Error
BLUE 5.271700e-01 7.972525e-02 2.024575e-03 1.807962e+00
RED 4.302138e-01 1.105399e-01 -1.627828e-02 2.141070e+00
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PDF testing

: po pl
Experiment
P Value Error Value Error
BLUE -2.489803e-3 5.330769e-02 -1.382799e-01 1.234868e+00
RED -1.326817e-01 5.220624e-02 -1.252083e-01 1.011311e+00
di di GREEN -1.446039e-01 4,735731e-02 -9.038844e-02 8.629481e-01
H r 1r
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.2 04
] — d‘fldir =10 1 1 dqdir
< - long — P p T
0.3
0.2
01—
0—
01—
-0.2 —
-0.3—
-0.4 L I | | | | | | I I | | I |
0 0.02 0.04 0.06 0.08 0.1




PDF testing

}  Analyse the behaviour of the fit in case the
transversal direct asymmetries are not
zZero.

0.5 0.027 0.045 0.3

) Parameter
} 10 000 events toy experiments.
[45] Rlong 0.81
1 50 experiments were generated for each Afong A0dg 0.50
different value ot,qgif ,
A, AOmix 0.87
} They were fitted assuminggdir = ¢ . Along AOdir 0.00
S ATdg 0.00
1 Linear fit has been performed in order to .
: : S ATmix 0.00
guantify the bias.




PDF testing

Ajpng = D0+ p1 AFT

x2 [ ndf 24.55/18
p0 0.4694 + 0.01035
p1 -0.05782 + 0.1894

Fitted A/"

long

dir
VS AT

0.52

o
3

°‘|II‘HI‘II\‘III‘IIIWIII’II\‘JII’\H

0.48

0.46

long

< 0.44

0.42

o
P

0.38

0.36

dir
AT



PDF testing

AL = p0 + pl AFT
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PDF testing

AL = p0 + pl AFT
Fitted Al vs AT x2 I ndf 24.44 /19
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ToyMC studies

Input Parameters

} 100 Experiments 010 000 events each.

0.5 0.027 0.045 0.3
} Fitted assumin A% =0
Parameter Name Value
. |4,|? Rlong 0.81
}ogpuas free parameter.
Along A0dg 0.98
ey AOmix 0.20
Afong A0dir 0.00
AAr ATdg 0.00
A ATmix 0.00
AGT ATdir 0.00




ToyMC studies

o
mix mean = 0.175527489827 _ _
:" - sigma = 0.0994575973716 The mean is almost 3 sigma away from the
- b -
i input value:
§14:_ Along A0dg 0.98
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NAME VALUE NEGATIVE  POSITIVE o T ’}Q
Gaussian  MAOMIx 1.75527e01 (9.78573e03) 9.78313e03 4
SAOMix 9.94576e02  -6.53662€03 7.38198€03 23_
Pull mpAOmix ~ -3.80221e01 -1.24754e01 1.25425€01 0% 5
SpAOMIX 1.04972e+00 -8.18630€02 9.53137€02 AZ™ pull
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ToyMC studies

Adir mean = -0.0147481448712
A sigma = 0.109803314985 Input value:
g. 25 L T
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NAME VALUE NEGATIVE  POSITIVE AL ﬁ\...
Gaussian  mAOdir -1.47481€02 -1.08125€02 1.07738€02 4
sAOdir 1.09803e01 -7.19353€03 8.07867€03 2:_
Pull mpAOdir -5.82974€02 -1.21235¢01 1.21162€01 O i +'1 S e
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12



ToyMC studies

}

Transversalp Msymmetry

13

Al mean = 0.0147345269192
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ToyMC studies

}  Transversal Mixing Asymmetry

Input value:
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